[ea1uyoa)

NYSsa|l) Jejiwis 39S

'ane,t//:dnqucgmeo;u

q-ny |

5
g
g.
o
2
S
o
Q
vy}
:
©
5
T
_|
<

ap"u1eg-NY 113geY/:dny 10 dp'ul

hitp://farbe i tu-berlin.de/ BEWS/BEWSL ONA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

log () IECSRGBUS triangle lightnesst*

t* Yoc=Yw - nc=100,

t*1EcsreBus=50 (Y/Y) Y2 4(Y,=18, Y,/ 100<Y<=Y, o)
t*(3,6)=26,* ,(18)=50 t*,/(90)=98

log[t*/t* ,]=

1
1Y,=18
Yn=36 1 Yy=90

IECSRGBuU5
tristimulus value difference
Yoe=Yw - nc=100,
t*1EcsreBus=50 (Y/Yy) Y2 4(Y,=18, Y,/ 100<Y<=Y, o)
log(dY) = (1/2,4) log[2,4Y,/50)] + [1-(1/2,4)] logY)
b
-

t,=50, dY,=4,80 dY,/Y,=0,2666
e

1
1
- 1
1
1
1

application
range

1
=18
1Yy,=90

log (AY/Y) IECSRGBUS
S=(AYIY) tristimulus value sensitivity

Yoc=Yw nc=100
t*1EcsreBus=50 (Y/Yy) Y2 4(Y,=18, Y, /100<Y<=Y, o)
log(dY/Y)= log[2,4(Y,/50)] - (1/2,4) log{/Y,)

= (1/2,4) log[2,4¢,/50)] - (1/2,4) log{)

IECSRGBu5
tristimulus value contrast
Cr=(viay) Yo=Yy grne=100
t*1EcsreBus=50 (Y/Yy) Y2 4(Y,=18, Y, /100<Y<=Y, o)
log(Y/dY)= - log[2,4//50)] + (1/2,4) log{/Y,)
= (1/2,4) log[2,4Y,,/50)] + (1/2,4) log¥)

t*,=50, dY,=4,8Q Y,/dY.~5

application
range

Y,=18
Yn=3.6  Yyw=90

log (t*/t* ) IECSRGBUS relative triangle lightnesst*/t*,

e, Yoc=Yw  nc=100,
t1EcsraBus=50 (Y/Yy) Y2 4(Y,=18, Y, /100<Y<=Y, )
t*(3,6)=26,* ,(18)=50,t*y(90)=98

log[t*/t* ]=0, m,=0,41

1 application
f range
1y =18

Yi=90

log(AY/AY,) IECSRGBUS relative
AYIAY tristimulus value difference
u Yoc=Yw nc=100,
t1EcsreBus=50 (Y/Yy) Y2 4(Y,=18, Y, /100<Y<=Y, )
log(dY/dY,) = [1~(1/2,4)] logl{/Y,)

>

"o
log[(dYY(dY) ]=0, m=0,58 »* 1
 ° 1 application
1 ge
1Y,=18

Yw=90

log [(AY/Y) 1 AYIY),] IECSRGBLUS relative
tistimulus value sensitivity

SISu=@YMIAYN) v =y, =100

nc
t1EcsraBus=50 (Y/Yy) Y2 4(Y,=18, Y, /100<Y<=Y, )
logl(dYMN/(AY/Y),] = - (1/2,4) loglIY,)

~
10g[(dY/YY(dY/Y),]=0, m— 0.4
t*,=50, dY,=4,80 dY,/Y,=0,2666 |
1y,=18
YN=3,6  Yw=90

log [(Y/AY) 1 (YIAY),] IECSRGBUS relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

t1EcsreBus=50 (Y/Yy) "2 4(Y,=18, Y, /100<Y<=Y, )
logL(Y/dY)/(Y/dY),] = (1/2,4) logiY/Y,)

application
range

Y,=18
Y=90

log (T*) IECSRGBUS triangle lightnessT*

T+ YocTl*w et

T*|EcsraBus=50 (Y/Y,) M2 4(Y,=18, Y, /100<Y<=Y,0)
T4\ (3,6)=26,T* ,(18)=50,T* ,(90)=98

1
1Y, =18
MN=3,671 Yy =00 T

BEW51-1A

logAY) IECSRGBuU5

AY tristimulus value difference
Yoc=L*w - nc=100,

T* lEcsraBus=50 (Y/Y,) Y2 4(Y,=18, Y, /100<Y<=Y,o)

log(dY) = (1/2,4) log[2,4¢,/50)] + [1-(1/2,4)] logY)

A

T*,=50, dY,=4,80 dY,/Y,=0,2666 _ »
-

1
1
- 1
1
1
1

application
range

1
Y518
1Y=90

BEW51-3A

log AY/Y) IECSRGBU5

tristimulus value sensitivi
S=@BYY) Yo=*w - :nc=100. 4

nc’
T* lEcsreBus=50 (Y/Y,) Y2 4(Y,=18, Y, /100<Y<=Y,o)
log(@Y/Y)= log[2,4(/,/50)] - (1/2,4) log{/Y,)
= (1/2,4) log[2,4¢,/50)] - (1/2,4) log{)
log(dY/Y}=20,50 My=sur gy & . application
T*,=50, dY,=4,8Q dY,/Y,=0,26606 1 S.<ange
1

~

BEWS51-5A

log (Y/AY) IECSRGBU5

C=(Y/AY) g;nlinrl_rlulus Vilcu—el ggntrast
T*1EcsreBUS=50 (Y/Yy) Y24 (Y, =18, Y,/ 100<Y<=Y,)
log(Y/dY)= - log[2,4//50)] + (1/2,4) log{/Y,)

- (1/2,4) log[2,4Y,/50)] + (1/2,4) logyY)

T*,=50, dY,=4,80 Y,/dY,=3
log(Y/dY)}0,57, m;=0.42
=

-

application
range

Y,=18
¥N=3.600 Y =90 T

BEW51-7A

BEW51-7N

TUB-test chart BEW5; IECSRGBuYS & T* for Y/Yy, Yac=(Y&L*) WRGBNC
Absolute and relative lightness, sensitivity and cont&st0,00, /
M Y

log (T*/T*,) |IECSRGBUS relative triangle lightnessT*/T*

THT*, Yoc=L*w - nc=100,

T*|EcsraBus=50 (Y/Y,) 2 4(Y,=18, Y, /100<Y<=Y, )
T4\ (3,6)=26.T* ,(18)=50,T*,,(90)=98

log[T*/T*]=0, m;=0,41

L* =49, T* =50 —
1 application
f range

1y =18

Yi=90

BEW51-2A
log(AY/AY,) IECSRGBUS relative
AYIAY tristimulus value difference
u YoerL*w - nc=100,

T* EcsraBus=50 (Y/Y,) 2 4(Y,=18, Y, /100<Y<=Y, )
log(dY/dY,) = [1-(1/2,4)] log¥/Y,)

application
nge

1y,=18
NN=3601 Y =90 T

BEW51-4A
log [(AY/Y) | (AYIY),] IECSRGBLUS relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc

T* Ecsrapus=50 (Y/Y) M2 4(Y,=18, Y, /100<Y<=Y, )
logl(dYM/(AYIY),] = - (1/2,4) logl/Y,)

application
range

10g[(dY/YY(dY/Y),]=0, m,=-0,41 - N
T#,=50, dY,=4,80 dY,/Y,=0,2666 !
1y,=18
V=36 Yiy=90

BEW51-6A
log [(Y/AY) I (YIAY),] IECSRGBUS relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nc™

T* |Ecsrapus=50 (Y/Y) M2 4(Y =18, Y, /100<Y<=Y, )
log[(Y/dY)/(Y/dY),] = (1/2,4) logiY/Y,)

log[(Y/dY)(Y/dY),]=0, m,=0,41

1
1 application
1 range
1y =18
NNE3601 Ya =90 T

BEW51-8A
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